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( A ) 60 (Refer to Figure 1, area 3.) Determine the approximate latitude and longtitude
of Currituck County Airport." (4-BA82_figl)
(A)36°24’'N - 76°01"W. (B)36°48' N - 76°01'W. (C)47°48 N - 75758 V.

P B
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B 4e3250:0015916 A el 2k &0
(B ) 61 (Refer to Figure 2, area 2.) Which airport is located at approximately 47°
39" 30""N latitude and 100°53" 00""W longitude?" (4-®IA82 fig2)
(AMLinrud. (B)Crooked Lake. (C)Johnson.

1o W

B4e38 500015917 g e 2 2k R0
(C ) 62 (Refer to Figure 2, area 3.) Which airport is located at approximately 47°21° N
latitude and 101°01' W longitude?" (4-®BIA82 fig2)
(A)Underwood. (B)Evenson. (C)Washburn.

™=

P W [

4o 88%.:0015918 45w :3 5 B ¥
(B ) 63 (Refer to Figure 2, area 3.) Determine the approximate latitude and longtitude
of Shoshone County Airport."(4-BA82_fig2)
(AMD47°02’N - 116°11°W. (B)47°33 N - 116°11'W. (C)47°32'N - 116°41’ .

S
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B4 A2 50:0010919 Al s s 20 5

(C ) 64 (Refer to Figure 3, area 3.) What is the height of the lighted obstacle
approximately 6 nautical miles southwest Savannah International?" (4-H@]
A82_fig3)

(A)823 feet MSL. (B)"1,013 feet MSL." (C)"1,403 feet MSL."

P B

B 4-3850:0015920 A2 ¥k R %

(B ) 65 (Refer to Figure 3, area 3.) The top of the group obstruction approximately 11
nautical miles from the Savannah VORTAC on the 340° radial is"(4-®A82 fig3d)
(A)400 feet AGL. (B)455 feet MSL. (C)432 feet MSL.

B 4-38%50:0015921 4] 2% R0 ¥

(Cc ) 66 (Refer to Figure 4, area 1.) A glider is launched over Caddo Mills Airport with
sufficient altitude glide to Airpark East Airport, south of Caddo Mills. How
long will it take for the flight at an average of 35 MPH groundspeed?" (4- ]
A82_figd)

(A)27 minutes. (B)25 minutes. (C)31 minutes.

14
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o 4e4855:0015922 fp ke 2 ¥ b R ¢
(B ) 67 (Refer to Figure 4, area 1.) What minimum altitude is necessary to vertically
clear the obstacle on the northeast side of Airpark East Airport by 500 feet?" (4r
BIA82_figd)
(A)"1,100 feet MSL." (B)"1,273 feet MSL." (C)"1, 283 feet MSL."

P B

o 4e4855:0015923 fp e 3 ¥k R ¥
(C ) 68 (Refer to Figure 4, area 2.) What minimum altitude is necessary to verticlly
clear the obstacle on the southeast side of Winnsboro Airport by 500 feet?" (4r
BIA82_figd)
(A)823 feet MSL. (B)"1,013 feet MSL." (C)"1,403 feet MSL."

SN

B 442 50:0015924 dgle ] ¥k R 0¥
(B ) 69 (Refer to Figure 5.) Determine the magnetic heading for a flight from Redbird
(area 3) to Fort Worth Meacham (area 4). The wind is from 030° at 10 knots, the

true airspeed is 35 knots, and the magnetic variation is 7° east." (¥-BJA82_figh)
(A)266°. (B)298°. (C)312-.
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(C ) 70 (Refer to Figure 6.) If a glider is launched over Bames County Airport (area
6) with sufficient altitude glide to Jamestown Airport (area 4), how long will
it take for the flight at an average of 40 MPH groundspeed?" (4-®A82 fig6)
(A)20 minutes. (B)27 minutes. (C)48 minutes.

P B

F 4 %8%55:0015926 4E e .2 ¥k B¢
(A ) Tl (Refer to Figure 6, area 2.) What is the approximate latitude and longtitude
of Cooperstown Airport?" (4-®A82_figh)
(A)47°25° N - 98°06°W. (B)47°25'N - 99°54’W. (C)47°55' N - 98°06" W.

S

B 448 50: 0015927 3gke .3 ¥k R o ¢
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(C ) 72 (Refer to Figure 6, areab and 6.) What minimum altitude should be used for a
go—around point at Eckelson in order to arrive at Bames County Airport at 1, 000
feet AGL 1f the glide ratio i1s 22:1 in no wind conditions? Use the recommanded
safety factor."(4-®A82 figh)

(A)"5,959 feet MSL." (B)"7,960 feet MSL." (C)"9, 359 feet MSL."

P W

4o 82%.:0015928 A ] ¥k B %
(¢ ) 7 (Refer to Figure 8, area 2.) The flag symbol at Lake Drummond represents a" (4v
BIA82_fig8)
(A)compulsory reporting point for Norfolk Class C airspace. (B)compulsory
reporting point for Hampton Roads Airport. (C)visual checpoint used to identify
position for initial callup to Norfolk Approach Control.

P B

I| & ' - ".; & Fﬂ#l § 5 ZEE3ha
Fhe3E5:0015929 fge 1 ¥5 R0 5
(B ) ™ (Refer toFigure 9, area 7. ) The airspace overlying McKinney (TKI) is controlled

from the surface to" (4r®A82_fig9)
(A)700 feet AGL. (B)"2,900 feet MSL." (C)"2,500 feet MSL."

{}g E] gl . ' b2 T.G)!Ez({

17



B 4-82%0:0015930 AR el # % R 5
(C ) 75 (Refer toFigure 10, point 1) The floor of the Class E airspace above Georgettown
Airport (Q61) is at" (4-®A82_figl0)
(A)the surface. (B)700 feet AGL. (C)"3, 823 feet MSL."
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Fdod8%2:001593]1 452 s B¢
( A ) 76 (Refer to Figure 13) Departure point-Georgetown Airport (Q61), Departure
time-0637, Wind aloft forecast (FD) at your altitude-1008, Airspeed-8kts. At
0755, the aircraft should be(4-®BA82_figl0)
(AMover Auburn Airport (AUN). (B)over the town of Auburn. (C)slightly west of
the town of Gargen Valley.
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(C ) 77 (Refer to Figure 10, point 6) Mosier Airport is"(4-®A82 figl0)
(A)an airport restricted to use by private and recreational pilots. (B)a
restricted military stage field within restricted airspace. (C)a nonpublic use

airport.
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( A ) 18 (Refer to Figure 11,

FIGURE 61 —Sectional Chart Rvearnt

area 1) The visibility and cloud clearance requirements

for a Sport Pilot to operate over Sandpoint Airport at less than 700 feet AGL

are" (4rBIA82_figll)

(A)3 miles and clear of clouds. (B)"1 mile and 1, 000 feet above, 500 feet below,
and 2,000 feet horizontally from each cloud." (C)"3 mile and 1, 000 feet above,
500 feet below, and 2,000 feet horizontally from each cloud."

2P W

B4 A8 50:0015934 Age:0 ¥ 20 5
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(A ) 7 "During VFR navigation without radio instruments, heading and groundspeed, as
calculated by dead reconing, should be constantly monitored and corrected by
(A)pilotage as observed from checkpoints. (B)the wind tringle. (C)wet compass
and the groundspeed indicator.

f4e48%.:0015930 #E w0 ¥k B %
( A ) 80 "For cross-country flights over land, navigation without radio instruments is
usually accomplished using dead reconing and"
(A)pilotage. (B)the wind tringle. (C)conpass heading.

o 4e%8%55:0015936 fE e .0 ¥k R ¥
( ¢ ) 81 True course measurements on a Sectional Aeronautical Chart should be made at
a meridian near the midpoint of the course because the
(A)values of isogonic lines change from point to point. (B)angles formed by
isogonic lines and lines of latitude vary from point to point. (C)angles formed
by lines of longtitude and the course line vary from point to point.

4o 88%.:0015937 A0 ¥k B %
( ¢ ) 8 Which is true concerning the blue and magenta colors used to depict airports
on Sectional Aeronautical Charts?
(A)"Airports with control towers underlying Class A, B, and C airspace are shown
in blue, Class D and E airspace are magenta." (B)"Airports with control towers
underlying Class C, D, and E airspace are shown in magenta." (C)"Airports with
control towers underlying Class B, C, D, and E airspace are shown in blue."

4o88%.:0015938 A0 ¥k B %
( ¢ ) 8 Which is true concerning the colors used to depict airports on Sectional
Aeronautical Charts?
(A)"Airports with control towers underlying Class D, and E airspace are magenta. "
(B)Airports with control towers are shown in magenta. (C)Airports with control
towers are shown in blue.

B 442 50:0015939 A0 s 20 5

(Cc ) 84 "Using pilotage, a pilot can keep from drifting too far off course by"
(A)flying the flight plan heading. (B)flight a flgiht plan. (C)referring to
selected features or checkpoints.

B 4-38%50:0015940 40 2% A7

(A ) 8 "Heading and groundspeed are calculated using dead reconing procedures. In
flight, they are constantly monitored and corrected by"
(A)pilotage as observed from checkpoints. (B)the wind tringle. (C)the wet
compass and the groundspeed indicator.

B4 A8 50:0010941 Age:0 ¥ 20 5
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(B ) 8 "When converting from true course to magnetic heading, a pilot should"
(A)subtract easterly variation and right wind correction angle. (B)add westerly
variation and subtract left wind correction angle. (C)subtract westerly
variation and add right wind correction angle.

B 4e3250:0015942 20 2k &0
( A ) 87 The course measured on a sectional chart by reference to a meridian is known
as the
(A)true course. (B)magnetic course. (C)true heading.

Johe A2 50015943 450 % 207
(B ) 8 "If proper correction has been made for the wind, ground track will be identical
with"
(A)drift angle. (B)course. (C)heading.

B4e4250:0015944 20 2k & 5
(A ) 89 Motion of the air affects the speed with which aircraft move
(AMover the Earth’s surface. (B)through the air. (C)in a turn.

F4o82%.:0015945 s w0 25 B ¥
(A ) 9 "If a flight is to be made on a course to the east, with a wind blowing from
northeast, the aircraft must be headed"
(A)somewhat to the north of east to counteract drift. (B)south of east to
counteract drift. (C)north to counteract torque.

B 4e4250:0015946 A w0 2k &
(B ) 91 "Given: True Course-050, True Heading-040, True airspeed-T75kts,

Groundspeed-6bkts. Determine the wind direction and speed."
(A)105°; and 16 knots (B)355°; and 16 knots (C)355°; and 10 knots

R4o88%0:0015947 2.0 ¥k B %
(C ) 92 Why should you file a VFR flight plan with FSS?
(A)You are required to do so when flying beyond 25 NM from an airport. (B)To
provide traffic reports with Flight Service. (C)To provide search and rescue
in the event of an emergency.

f4e82%.:0015948 A0 ¥k B %
( ¢ ) 93 No person may operate an aircraft in formation flight
(A)over a densely populated area. (B)in Class D airspace. (C)except by prior
arrangrment with the pilot in command of each aircraft.

B4 A8 50:0015949 Age:0 s 20 5
(B ) 9 Which aircraft has the right-of-way over all other air traffic?

(A)A balloon. (B)An aircraft in distress. (C)An aircraft on final approach to
land.

B4 A2 50:0015950 A0 ¥k 20 5
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(B ) 9 "What action is required when two aircraft of the same category converge, but
not head-on?"
(A)The faster aircraft shall give way. (B)The aircraft on the left shall give
way. (C)Each aircraft shall give way to the right.

4e82%0:0015951 A0 ¥k B %

( A ) 96 "Except when necessary for takeoff or landing, what is the minimum safe altitude
for a pilot to operate an aircraft anywhere?"
(A)"An altitude allowing, if a power unit fails, an emergency landing without
undue hazard to persons or property on the surface." (B)"An altitude of 500 feet
above the surface and no closer than 500 feet to any person, vessel, vehicle,
or structure." (C)"An altitude of 500 feet above the highest obstacle within
a horizontal radius of 1,000 feet"

F4e%8%55:0015952 4.0 ¥4 R %
(B ) 97 "The suffix "nimbus,” used in nameing clouds, means"
(A)a cloud with extensive vertical development. (B)a rain cloud. (C)a middle
cloud containing ice pellets.

F4o88%.:0015953 ka0 ¥ % B %
( A ) 98 One of the most dangerous features of mountain waves is the turbulent areas in
and
(A)below rotor clouds. (B)above rotor clouds. (C)below lenticular clouds.

F4o88%.:0015954 kw0 ¥% B %
(C ) 99 What cloud types would indicate convective turbulence?
(A)Cirrus clouds. (B)Nimbostratus clouds. (C)Towering cumulus clouds.

F4e%8%55:0015955 4.0 ¥4 R %
( A ) 100 Thunderstorms which generally produce the most intense hazard to aircraft are
(A)squall line thunderstorms. (B)air mass thunderstorms. (C)warm front
thunderstorms.

o 4o82%.:0015956 A0 ¥k B %
( A )10l What conditions are necessary for the formation of thunderstorms?
(A)"High humidity, lifting force, and unstable conditions." (B)"High humidity,
high temperature, and cumulus clouds." (C)"Lifting force, moist air, and
extensive cloud cover."

4o 88%.:0015957 kw0 ¥% B %
( A )102 Thunderstorms reach their greatest intensity during the
(Mmature stage. (B)downdraft stage. (C)cumulus stage.

o 4e48%55:0015958 4.0 ¥ % R %
( ¢ ) 103 Where does wind shear occur?
(A)Only at higher altitudes. (B)Only at lower altitudes. (C)"At all altitudes,
in all directions."

B4e4250:0015959 A0 sk &0 5
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(A )104 "If a temperature inversion is encountered immediately after takeoff or during
an approach to a landing, a potential hazard exists due to"
(A)wind shear. (B)strong surface winds. (C)strong convective currents.

B 438 50:0015960 28 0 3% & %
( A )105 Most midair collision accidents occur during
(A)clear days. (B)hazy days. (C)cloudy nights.

R4o82%50:0015961 fe .0 2% B ¥
( ¢ )106 How can you determine if another aircraft is on a collision course with your
aircraft?
(A)The other aircraft will always appear to get larger and closer at a rapid
rate. (B)The nose of each aircraft is pointed at the same point in space. (C)There
will be no apparent relative motion between your aircraft and other aircraft.

B4 48%55:0015962 42w .0 ¥4 R %
( A )107 Pilots who become apprehensive for their safety for any reason should
(AMrequest assistance immediately. (B)reduce their situational awareness.
(C)change their mindset.

o 4o82%2:0015963 f w0 % B ¥
(B )108 "Prior to starting each maneuver, pilots should"
(A)"check altitude, sirspeed, and heading." (B)visually scan the entire area
for collision avoidance. (C)announce their intentions on the nearest CTAF.

F4e%8%5:0015964 4E 2.0 ¥ s R ¢
( C )109 "To scan properly for traffic, a pilot should"
(A)slowly sweep the field of vision from one side to the other at intervals.
(B)concentrate on any peripheral movement detected. (C)"use a series of short,
regularly spaced eye movements that bring successive areas of the sky into the
central visual field."

R 4e88%5.:0015960 A0 % B ¥
( B ) 110 The most effective method of scanning for other aircraft for collision avoidance
during daylight hours is to use
(A)"regularly spaced concentration on the 3-, 9-, and 12-0’ clock positions."
(B)"a series of short, regularly spaced eye movements to search each 10-degree
sector." (C)peripheral vision by scanning small sectors and utilizing offcenter
viewing.

R 4o82%50:0015966 d w0 2% B¢
( A )11l "Guy wires, which support antenna towers, can extend horizontally; therefore,
the towers should be avoided horizontally by at least"
(A)"2,000 feet horizontally." (B)300 feet horizontally. (C)"1,000 feet
horizontally."

4o 88%.:0015967 %2 w0 5 B 7
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( ¢ )112 What wind condition prolongs the hazards of wake turbulence on a landing runway
for the longest period of time?
(A)Light quartering headwind. (B)Direct tailwind. (C)Light quartering tailwind.

F4e48%.:0015968 220 ¥k B %

( A H113 "When landing behind a large aircraft, the pilot should aviod wake turbulence
by staying"
(A)above the large aircraft’s final appraoch path and landing beyond the large
aircraft’ s touchdown point. (B)below the large aircraft’s final appraoch path
and landing before the large aircraft’ s touchdown point. (C)above the large
aircraft’ s final appraoch path and landing before the large aircraft’ s touchdown
point.

F4e%8%55:0015969 4 e .0 ¥k R ¥
( A )114 Wingtip vortices created by large aircraft tend to
(A)sink below the aircraft generating turbulence. (B)rise into the traffic
pattern. (C)rise into the takeoff or landing path of a crossing runway.

F4e%855:0015970 4g 2.0 ¥ s B¢
( ¢ )115 Wingtip vortices are created only when an aircraft is
(AM)operating at high airspeeds. (B)heavily loaded. (C)developing lift.

448500010971 A5 w0 ¥ 5 B 4
( ¢ )116 The greatest vortex strength occurs when the generating aircraft is
(A)"1light, dirty, and fast." (B)"heavy, dirty, and fast." (C)"heavy, clean, and
slow."

4o 82%.:0015972 A0 2% B %
( B ) 117 Which statement about longitude and latitude is true?
(A)Lines of longitude are parallel to the Equator. (B)Lines of longitude cross
the Equator at right angles. (C)"The 0? line of latitude and longitude passes
through Greenwich, England."

4o 4255:0015973 fp e .0 ¥k R ¥
( ¢ )118 Which is true concerning the blue and magenta colors used to depict airports
on Sectional Aeronautical Charts?
(A)"Airports with control towers underlying Class A, B, and C airspace are shown
in blue, Class D and E airspace are magenta." (B)"Airports with control towers
underlying Class C, D, and E airspace are shown in magenta." (C)"Airports with
control towers underlying Class B, C, D, and E airspace are shown in blue."

25



